125 EXC SIX-DAYS 2015 <2015><EU><F710302>

ACCESSORY PACK
12926
9 ._
OHNE ABBILDUNG i %
WITHOUT ILLUSTRATION ‘\ 1 } 7
0]
I @) ¢
TECHNISCHE DOKUMENTATION ;/ @
TECHNICAL DOCUMENTATION < 2
DOCUMENTACION TECNICA . 0]
DOCUMENTATION TECHNIQUE o~
NOTE TECNICHE ]
'Y
2
s
Pos Part Number Description Additional Text Quantity
0 77712099300 ACCESSORIES FLASHER SD 2015 1.00
0 312313 KTM BALLPOINT PEN ORANGE 1.00
0 78003040033 FOOTREST L/S + R/S CPL. 09 1.00
0 77203094000 PLASTIC FRAME PROTECTION SET 1.00
0 50305107000 EXHAUST MANIFOLD 1.00
0 50305012000 Silent block for exhaust pipe 1.00
0 54603048100 clip nut M6 1.00
0 0024060156 HH collar screw M6x15 TX30 ONLY USA 1.00
0 0024060106 HH COLLAR SCREW M6X10 TX30 1.00
0 0025060306 HH collar screw M6x30 TX30 1.00
0 50302044000 CLAMP FOR MIRROR CPL. 09 1.00
0 50208020000 SPACER BUSHING 7X10X7,5 EXC 2.00
0 58012040000 Rear view mirror left 1.00
0 78108016050 NUMB.PLATE CARRIER BOTTOM 1.00
0 7800906110030 BRAKE DISC GUARD CPL. 1.00
0 58012140000 Rear view mirror right 1.00
0 77235936100 RADIATOR PROTECTOR CPL. 1.00
0 58012040150 Clamp for mirror 1.00
0 58412080000 REFLECTOR RED EU+AUS 1.00
0 54812063044 REAR BRAKE PEDAL SAFETY WIRE 1.00
0 5021204000030 MIRROR L/S BLACK ACERBIS '97 1.00
0 50033029013 FRONT SPROCKET 13-T 1.00
0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00
0 3210039 CUSTOMER WELCOME LETTER 1.00
0 3212521GB POWER WEAR FOLDER 2014 1.00
0 3212525DE/GB PP OFFROAD FOLDER 2014 1.00
0 52000115 STICKER FRONT FORK-SET WP"4CS 1.00
0 00063004202 PRINT LABEL 60X51 MM 2.00




0 312305 DOCUMENTS BAG 2006 1.00
0 7770217900028 HAND GUARDS CPL. L/S+R/S WHITE 1.00
0 00062030019 AIR FILTER OIL 100ML 1.00
0 77202002144 Bar pad cmpl. 1.00
0 54809081060 FRONT AXLE PULL 26MM 04 1.00
0 50303190100 SKID PLATE CPL. 1.00
0 50305994000 CARBON PIPE GUARD CPL 1.00
1 3213177EN OWN. MAN. 125-300 XC-W/EXC 15 1.00
29 77729099000 TOOL KIT 2013 1.00
30 53012028200 GRIP ORANGE B&F 1.00
31 50329080100 WRENCH SW=17/21/27/32 B&F 1.00
33 60029070300 T-WRENCH WS=6/8/10/TX45/SK4X1 1.00
34 50329072000 SPOKE-SPANNER WS 7/10 1.00




